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1. SAUEE aoftdE aeieie Q9 T 1 S 2
(a) W Twien fafma g e F=.
(b) TEE AW Wehid T TP TSR ST TEl ITeTo FHEA 01,
(c) oifawriaa vew Jwi g gfaw e 7ed w3l
d) TE= TR TEdE Tea e Se.
Qg w1 e
1) (a) 3 (o) (2)  (b) 3T (c) (3) (a) = (b) @) (o) @i (d)
Which of the following are two important functions of IMF ?

(a) To control exchange rate of member countries.

(b) To provide International Liquidity to member countries in inadequacy of foreign exchange
Teserves.

(c) To assist for infrastructural development to undeveloped member countries.
(d) To control inflation directly in member countries.

Choose the correct options.

(1)  (a) and () (2) (b) and () (3) (a) and (b) (4) (o) and (d)

2.  GrEdH PN faye StET o R ?
(a) VI WY € Yee Wit F ST,
(b) AN HIYF § Y goH e SR,

it 3T
(1) () S 3 (2) (b) &R AR /
(3) (a) 3nfor (b) SR A (4) =OYH FURE Gl TE

Which of the following statement is correct ?

(a) The measure of value is the primary funcfion of money.
(b) The measure of value is the secondary function of money.
Answer options :

(1) (a) is correct (2) (b) is correct

(3) (a) and (b) are correct (4) None of above are correct

FHeeAT HHES ST/ SPACE FOR ROUGH WORK P.T.O.
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3. 'SEERIHIC Se A H FraeAl e Wieled FIE e 3R 2
() &4 anfor wfgsrmrerda sarm amie 3w
(2) 3ufEd @d anfor IUET= IR IS R
(3) THRW AU ST TN [ES MRS H
(4) TR AN 1Y I I TR HAR
According to Keynes “Inflationary Gap” means which of the following statements ?
(1) Gap between expenditure and future output
(2) Gap between anticipated expenditure and available output

)
(3)  Gap between aggregate demand and aggregate supply
(4) Gap between aggregate demand and available output

4. TrhEE GHAY fagiaren weuid arefiete! S faem @ A ?
(1) e T 3 St § 39 Yogetiyl Yoot S
(2) T TN SIS WSl YHIOTG T g,
(3) oo Tvam goger Higa wHom w6 2.
(4) UiEcH T SrREE TR &% e I aTEa.
Which of the following is not true for demographic transition theory ?
(1) In stage one, high birth rates are matched with high death rates.
(2) In stage two, there is a substantial fall in birth rates.

(3) In stage three, death rates fall significantly
(4) Population growth rate is very low in stage one.

5. YRAN T oAl Mgt darefer fawm faramm =0 .
(a) Frafe e AU TN ST HHT AT I S
(b) =& fafra vedi=a s STome UWTa ST SR STehel 9T S,
(c) Tl HAYTTEI SATeS SO U ST A SeheT W dre.
Fletet FowE faum/A stET o ?
1) (@, @) 31 () TR 27T (2) (a) 3 (b) = FRA
(3) (a) 3fOT (c) TR oM (4) EE (a) TH AR
Consider the following statements about national income accounting in India.
(a) We get an underestimate of national income due to subsistence agriculture.

(b) We get an overestimate of national income due to presence of barter system.
(c) We get an overestimate of national income due to operation of black economy.
Which of the above statement/s are true ?

(1) (a), (b) and (c) are correct (2) (a) and (b) are correct

(3) (a) and (c) are correct (4) Only (a) is correct

FoeAT SIS SAT/SPACE FOR ROUGH WORK
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6. TS ST oMY Wi T Wi WehedH S0 STeiedn e, Jrd Siedr e,

@
i)
@)
)

(i

g - 11
() T FElEdd O, TR =
() e @ anfor wrfe T
(iif) A STOT HA A
(iv) IURE TE 9 ATACH T

Match the following Economist and their ideas about types of public expenditure given below.

gz - 1
(a) . U=
(b) . T
(c) . dimet fewm
d) W STeA
qiet S

@@ () ()
1 ) @ @
(@ @ @ (i
@) @ (i) )
@ () () @

Unit - I
(a) Prof. Robinson
(b) Prof. Adams
(¢) Prof. Smt. Hicks
(d) Prof. Dalton

Answer Options :

@)
@)
0

(@
()

(b)

(c)

Unit - 11
(i) Development Expenditure and Security Expenditure |
iy Administrative and Social Expenditure
(i) Subsidies and purchasing value

(iv) Productive and Non-productive Expenditure

FHoHl HIUES AT/ SPACE FOR ROUGH WORK P.T.O.
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7. Wéﬁqu(cbp)m'wwﬂumm(cm)mtﬁawmaﬁvmﬁw
wiafsifer grar ?
(1) GDP 3% GNP a1 S Hhel Tohd 37Tee.
(2) GNP We 3wier Searet S wRe el wredt hereh .
(3) GDP H&l QNIel Ie9GA SEhi TIT Shetel! JTel Hiajelt Wi,
(4) GNP I 93 WisTd! S8R/ &t s,

A difference between Gross Domestic Product (GDP) and Gross National Product (GNP) is reflected
by which of the following statements ? ~

(1) GDP and GNP are one and the same concepts

(2) GNP im:h;des receipfs from Abroad made to the Country’s factors of production

(3) GDP includes receipts from Abroad made to the Country’s factors of production

(4) GNP excludes the capital depreciation

8.  YIG TR 2020-21 =41 AHFHIHE
(a) mﬁaﬁﬁmﬁmﬁamu@@aﬁamﬁwaﬂ%
(b) oot Aeafier wei Wigaeh @eikie AT WAt o,
T Fiod e,/ faa ST e/ ?
(1) wad faum (a) (2) e fauM (b)
3) (a) 3T (b) S FHUT R ST (4)  (a) IO (b) A Faur TH T
In GOI Budget 2020-21 :
(a) Social services expenditure accounted for the lion’s share of revenue expenditure.
(b) Economic services;accounted fgr major share. of capital expenditure.
Which of above statements is/are correct ?
(1) Only statement (a) (2) Only statement (b)

3) Both statements (a) and (b) are correct (4) Both statements (a) and (b} are wrong

FoAT HHETS JAR/SPACE FOR ROUGH WORK
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9. . WrRuE g 3t e fawm e Yeyrieya Erena fayr faawe o .
(a) HdE g § -9 T e Hean s fae e wed.
(b) e e faen vieaw FHiideia wfga aftormge sfe faemem =eT .
TRl FoR/d faumA SiET oTRa ?
(1) T (a) TN 3T (2) FH (b) SN IR
B)  (a) SO (b) AR Ry AR @) (a) ST (b) T I AR

Consider the following statements regarding the relationship between population growth and
economic development .

(a) Population growth retards economic development by reducing land-man ratio.

(b} Population growth promotes economic development through its adverse effect on capital
formation.

Which of the statement/s given above is/are correct ?
(1) Only (a) is correct (2) Only (b} is correct
(3) Both (a) and (b} are correct (4) Both (a) and (b} are incorrect

10. WTO =1 dEdia @iyt Hon/d faum/3 sdew sme/qa?
(@) WTO SRS AR ASHTET=T SRTUh = TSN %1 1.
(b) WTO STT9eal ¥e& QWi Sefshrei forhramer srefwer Ria.
(c) WTO Hga Tgaeran qfafel .
‘ﬂ'ﬂfﬁ B?ﬁ' H |
(1) % (a) @ @frE @) ) (4) = R
Which of the following statement/s is/are true about WTO ?

(@) WTO works to eliminate discriminatory treatment in international trade.
(b) WTO provides long term developmental assistance to its members.

(c) WTO is not an agent of the United Nations.

Answer Options :

(1) Only (a) (2) (a) and (<) (3) Only (b) (4) None of the above

Tl HIHTEIS N /SPACE FOR ROU’GH WORK P.T.O.
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11.

Yo we derr fasi

() e HE SEeti= I e e B e T

) e Repreten Yt WX 91 qEwme a1 i SeeE €9 T 9,

it I "

(1) fauF (2) w0 378 71 faum (b) TS o

(2) Taum (b) TR =R WA fauE () THIN R

(@) = fqur (a) snfor (b) T e

(4) R faum (a) sufn (b) g oA

Quantity theory of money

(a) explains changes in the value of money in terms of changes in the quantity of money.
(b)  got its quantity form in the book ‘The Purchasing Power of Money’ by David Ricardo.
Answer Options :

(1) Statement (a) is correct but (b) is false

(2) Statement (b) is correct but (a) is false

(3) Both (a) and (b) are correct statements

(4) Both (a) and (b) are false statements

12,

WI. el FiAl T Wigac St Sk HRo gafac sed ?

(1) AT e (2) et

(3) fifs anm dode S (4)  o0w wd

Which are the suggested causes by Prof. Ohlin for International Capital Movement ?

(1) Difference in interest rate (2) Taxation policy

(3) Availability of Natural Resources (4) All of above

oAl TS AFT/SPACE FOR ROUGH WORK
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Rare femefia s fedt a1 devia qeta foum foaamm =0 .

(a) 2000 - 01 =AT 3feich TS AW fammeniia sefdaeare e srqear=t fas dev Joam amet
B

(b) Temnfa siefdweg onfor snfdfs aeifeor a1 devia T g giad F0aMET B e
et A= sreaeEel St THva e .

() WRa STEiTE fimefa sreftearst W §E FaT STt A,

At Y

(1) faum (a) 95 oM (2) Foum ) % e

(3 faum o) I o (4) T () 3T (o) FHTA ST

Consider the following statements related to status of gender budgeting in India.

(@) The Economic Survey for 2000-01 made a specific reference to need for gender budgeting in
India.

(b)  Dr. Ashok Lahiri Committee was constituted to suggest general approach to gender budgeting
and economic classification.

(c) The gender budget process is not yet inittated in India.

Answer Options :

(1) Statement (a) is false (2) Statement (b) is false

(3) Statement (c) is false (4) Statements (b) and (c) are false

14.

GrelleTdeht ST faum ‘ S=wet 31’ 91 939 9o % ?

(1) I e Vg A A0 1] i Seey &,

(2) &= <UTSN TERA TR R ST,

(3) & refeyerediet Y S v SR S T freii whe s,

(4) aﬁa@ﬁaﬁwawmmﬁmﬁﬁaﬁﬁﬁwmw@
Which of the following describes the concept of ‘high powered money’ ?
(1) It only includes cash and current deposits

(2) Itisa currency issued by the government of a country

(3) It is that part of the money which is backed by supporting reserves
(4) Itis that part of money supply which is created by the commercial banks

AT HHETS W/ SPACE FOR ROUGH WORK P.T.O.
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15. ﬁmmmmmmwmm?
1) 1990 (2) 1991 (3) 1992 (4) 1993

When was the report related to poverty by Shri. Lakadawala Committee submitted to the
government ? :

1) 1990 (2 1991 (3) 1992 @) 1993

16. Tl faum =t stReften defdier e ‘
(@) T HfqA S EIEY ISdl S SRt Y W
(b)  STHH FHU=AT WA w1 S 3nfor ST THe Sl ST,
(c) TIW HUAY I Al Tafdhal T
(d) SToeY Oy Preom=n Wegeeed A= 3THd.
e fauria HoR faum ef s ?
1) (a) 0 (d) 2 (a) =t (b) @) (o) = (d) @) (2 37 ()
Following are the statements related to taxation.
(a) Incidence of a tax is felt by a person who pays it.
() In case of indirect tax, the incidence and impact are felt by the same person.
(c) Direct taxes have high degree of elasticity.
(d) There is uncertainty related to the collection from indirect tax.
Which of the above statements are true ?
(1) (a) and (d) (2) (a)and (b) (3) () and (d) 4) (a) and (o)

17. ‘' o7ifef faeme eV e Ieue A B 9. ! ¥ amifde faerarel samen vl Aigef 311%7
(1) TR T SeskA (2) . facama
(3) . afad @) = a fEda

Who stated the defination of economic development as “Economic Development means, increase
in per-capita income.” -

(1) Mayer and Baldwin (2) Prof. Wiliamson

(3) Prof. Lewis (4) Okan and Richardson

HEAT HHTEIS W/ SPACE FOR ROUGH WORK



A 11 Z16

e v I/ TG TE AT SeAE HSHar A A ?
(a) R FAffRAEEt TR ZE 1w,

(b) /TR e et e,

(c) TEI SqF.

(d) e fat sHaeR Hewen faetel geet.

g 39T
(1) W (a) 2 (a), (b) MW ().
3) (a), (b), () 30 (d) (4) (b) 37w (d)

Which of the following examples can not be a part of Gross Domesnc Product Accountmg ?
(a) The value of the tyres used to build a car.
(b) The transaction value of second hand books.

- A T

(c) Transfer payments.
(d) Brokerage paid to real estate agent.
Answer Options :

(1) Only (a) (2) (). {b)and {) .
(3) (@), (b), (c) and (d) (4) (b) and (d)
19. TS T T TR AiSoedl Gielte SHida! I 631 ' did (Fifsw) siemml’ guifad ?
(1) 3 feercdt S 2) o feerdt e
(3) T feerdt St (4) owlerwted o o

Which of the following concepts developed by National Sample Survey Organisation indicates
chronic unemployment ? :

(1) Daily Status Unemployment (2) Current Status Unemployment

(3) Usual Status Unemployment (4) All of the above

20. wm@@mmaﬁwm@mmmwﬁamﬁwﬁ
Hes fmfor g,

(1) WA I 3Tyeey & @ W&-Tﬁ?{maﬂ'qﬁ
(3) eI T S e (4)  orger o %

The difference between Gross Domestic Product at market prlce and Gross Domestic Product at
factor cost arises mainly because of

(1) Direct and indirect taxes (2) Direct taxes and subsidies
(3) Indirect taxes and subsidies (4) Subsidies and loans

heedT HIMES 9T/ SPACE FOR ROUGH WORK © .--~, -, P.T.O.
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21.

12 A

e fasbry enftr wrar faara gi=am W 3R, € T4 0 Hqige ane ?
(1) via fgz= (2) A T
(3) . W -7 (4) TWFaW

Who has expressed this opinion that, there is a difference between economic development and
human development ?

(1) Paul Striton (2) Amartya Sen

{3) Prof. Mehaboob Ul-Huk (4) Dandekar and Rath

22,

QAT HIV GHIH 90 G fagiaren i@ e e gfafifue o ?
1) M=KpR 2) M=PT/VT  (3) Y=M,V{e,r) (4 M=PY

Which of the following equations represents cash-balance approach to the quantity theory of
money ?

(1) M=KpR 2) M=PT/VT  (3) Y=M,V(e, 1) (4 M=PY

23.

AN SATIRT= Y- 3iefer Fagiargen :

(a) AT I T I Heoh fagerar o e weeh warm aren gr fruifa &,
(b) TS e IS HeH TG iU IG Heh WS AW Ta Bor I T
AR HITR/ A Faur/ A SaR smrRra ?

(1) (a) ST (b) faem st ITRA

(2) FIB (b) T e

(3) FTB (a) SN ¥

4) ST HowEr TEh

According to the Heckscher - Ohlin theory of international trade -

(a) the pattern of international trade is determined by factor endowments and factor intencities.
(b) changes in factor endowments and factor intencities is not possible over time

Which of the statement/s given above is/are correct ?

(1) (a) and (b) are correct statements

(2) Only (b) is correct

(3) Only (a) is correct

(4) None of the above

FoeAT FHIEETS ST/ SPACE FOR ROUGH WORK
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24. drafre Gete fagiaqar sy SR g I SR
(@) ST AT AT TR S AT o8 TN ST,
(b) ATTETeAT WA FHM FEGoAT G AT AN ITHAT,
() OTETeA T TN TR SACAHE T A AT,
i I
1) (), (b) foum 4 R (2) (a) foum drg o
(3) (b) faum drg o (@) (b), (o) Taum A e
According to the theory of comparative costs, International Trade takes place because
(a) different countries have different advantages in the production of different commodities.
(b) different countries have different advantages in the production of same commodities.
(c) different countries have same advantages in the production of same commodities.
Answer Options : ‘
(1) {(a), (b) statements are correct (2) (a) statement is correct
(3) (b) statement is correct (4) (b), {c) statements are correct
25. QIREAT=A ASHIAT=A Hawidiel Weilerien v Hal WHe] ey e - 2010 Hed Higed e ?
(1) Wl i s (2) <IiETET SgIEnT fowis
(3) foan qepm s @) fan fawman frdwis )
Which of the following concepts of poverty measurement was introduced by the Human
Development Report of 2010 ?
(1) Human Poverty Index (2) Multi-dimensional Poverty Index
(3) Gender Empowerment Measure (4) Gender Inequality Index
26. e faur fomme o

(a) I-99 T OISR TREN AN YRATES AT SEmdie SR Eefaua S SvarEet
TIR A el Uiers 716 TR,

(b) ¥-99 16 - 59 FETEEE .

SRRt B/ faum/ Y siew aR/d?

(1) e (a) &R R (2) K (b) TR &

(3) <IN (a) o0 (b) T AR (4) = IO A

Consider the following statements :

(@) e-SHRAM is a name of the portal launched to facilitate delivery of social security schemes to
the unorganised sector workers in India. ‘

{(b) e-SHRAM is for age group between 16-59 years.

Which of the statement/s given above is/are correct ?

(1) Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) None of the above

THeeAT HITHTS ST/ SPACE FOR ROUGH WORK P.T.O.
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27. el HIES(Th e S S Hel Wahs-arad WA shaard T B,

(1) I wisaw Ffdmes g2 (2) ST wisaw Tfidasd T

(3) Tt s we (4) frafa SEme TR

In case of external public debt, a high debt service - savings ratio implies

(1) Fall in domestic capital formation (2) Increase in domestic capital formation

(3) Fall in export earnings (4) Increase in export earnings
28. TWICHTIeR! FIVA fHUM SHe o ?

(a) WA fowm fEwis A SMids THeiaR 1990 T YHINE Bia k.

(b) T 1995 HEA MfaT TSR YRV FE WG faa TRt cieheeidrel femaerdsEt .
it S

(1) (a) R A& (2) (b) TR A&

(3) () 30f0 (b) = TR Aredt (4) AR PR T AR

Which of the following sentences is correct ?

(a) The Human Development Index Report is being published globally since 1990.

() The Human Development Report, published globally in 1995 was on gender differences in
the population.

Answer Options :
(1) (a) is correct (2) (b) is correct
(3) Both (a) and (b) are correct * (4) None of the above is correct

29,

TRE AT T TR HAEEl 2012 Tl e Seimmerkd Tree Hd st a9
T ST ERCH

(1) Ei TH He=R Qo (2) LW TREA
(3) T TH. 9 (4) . 9. T

The expert group set up in 2012 by the Planning Commission to review the méthodology for
measurement of poverty was chaired by

(1) Dr. S. Mahendra Dev (2) Dr. C. Rangarajan
(3) Dr. S. Tendulkar (4) Dr. YK Alagh

AT FHIHTHIST IRT/SPACE FOR ROUGH WORK
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30. @i faur fagre o
(@) T T 2015-16 TR TERTE TEATS T TG 4F 1.34 TR 2.
(b) FRRIS 2019-20 HYA Feraied [eraia &3 19.20 g T,
Fhwis! wvR/d e/ stET S/ R ?
1) (&) T (2) (b) %
(3) R (a) MW (b) TR T @) I (a) M0 (b) SR T
Consider the following statements :

(a) According to Agriculture census 2015-16 Maharashtra state has 1.34 hectares average
operational land holding,.

(b) In the year 2019-20 Maharashtra has 19.20 lakhs hectares under Horticulture.

Which of the statement given above is/are correct ?

(1) (@) only ) (b)only

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) are incorrect

31. GRIAYH HIoK fHUW o oe ?
(a) BRI THTAT TR Hrefies &t et S gl e,
(b) TERTER TEKE IT AT TS IA-TTal IR STE.

"Tﬂ'f'éﬂ‘ Tﬁ'ﬁ‘ :
1) (2) 9% 3R 2) bFF M
(3) (a) 3 (b) G MRd (4) THEIE HORE IF TR

Which of the following statement is incorrect ?

(a) The industrial sector did not progress rapidly after the establishment of the Maharashtra
state.

(b) Maharashtra’s per-capita income is higher than the country’s per-capita income.
Answer options :

(1) (a) is incorrect (2) (b) is incorrect

(3) (a) and (b) are incorrect (4) None of the above are incorrect

32. WEAIH! HIvR TEhN Gerde e ?

(1) UoF 3 go w9weE (2) <iwwel fREm

(3) USRI T-3nfds Tgum (4) FEFR famo
Which of the following is not the principle of cooperation ?

(1) Open and voluntary membership (2) Democratic control

(3) Member’s non-economic participation (4) Co-operative education

ol SHIATHISH WM /SPACE FOR ROUGH WORK P.T.O.
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33. "' HEFR ETEE] Fiel IS U WEHR 9yl geny wies’. ® Gy it Fe 2.
(1) vy FEeE 93 1985 (2) fEd WE T 98 TR 1954
(3) it e 2016 ' (4) RfEgw affedt

“Cooperation has failed but cooperation must succeed” this statement was stated by
(1)  Planning Commission of India 1985  (2)  All India Rural Credit Survey 1954
(3) NITI Aayog 2016 (4) Narsimhan Committee

34, HERIE WEAH ‘favie s wEsie foaor de’ wYt g SO ofelt oTe ?
(1) 1990 9FHat  (2) 1991 F=R (3) 1992 =W 4) 1993 SMard

When was the ‘Speciai Granted Public Distribution Programme’ started by government of
Maharashtra ?

(1) 1990 January (2) 1991 November (3) 1992 November (4) 1993 January

35. Wi Yl AT s F " TR ?

“Srdvred Gadt fresavare st @ seoaren A 9 ey fin Sam @i oA i e
e s’

(1) R 2y o @) feare (4 e

Who stated the following definition of agricultural economics ?

“ Agricultural Economics is the study of relationship arising from the wealth-getting and wealth
spending activities in agriculture”.

(1) Taylor (2) Gray (3) Hibbard (4) Haurd
36. ' a™ A St feaes s e qaR HIOIE A gl
(1) 1956 (2) 1961 (3) 1966 (4) 1971
In the ‘Intensive Agricultural District Programme’ was prepared in India.

(1) 1956 2) 1961 (3) 1966 @) 1971

AT HIHES JT/SPACE FOR ROUGH WORK
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37. WS HIvR fauH SRS 3R ?
(a) Sid UIqesER e U 1970 IR GEA A B,
(b) VAR St 1991 TR SMfeien emonT gear Sefl Bl

ﬂ'ﬂf‘Eﬁ'B?ﬁ':
1) (a) S 3R @) (b) T I
(@) (a) 310 (b) T LA (@) TR FoRS S TR

Which of the following statement is correct ?

(a) Global Economic Reforms had begun since 1970's.
(b) India had begun Economic Reforms since July 1991.
Answer options : '

(1) (a) is correct (2) (b)is correct

(3) (a) and (b) are correct (4) None of above are correct

38. Wi faur foumm = :
(a) Wfirr Tmitor S AR SeRgR Wt et .
(b) TR A bt fFEE Fete HE e Tsted .
(©) WWWWWWWWWWmW

R A T T,
e Ho[/d faumE,/S 9y enR/ e ?
(1) @@ FAFemE (2 (b) M0 () W A
() (a) o (c) 9ra M () =lets ud 9 oG

Consider the following statements :
(a) Regional Rural Bank is sponsored by a commercial bank.
(b) Regional Rural Banks are not implementing Kisan Credit Card Scheme.

() NABARD has issued operational instructions to Regional Rural Banks with regards to
implementation of Swarnajayanti Gram Swarozgar Yojana.

Which of the statement/s given above is/are correct ?
(1) (a) and (b) are correct (2) (b) and (c) are correct

(3) (a) and (c) are correct (4) All of the above are correct

Hol HITEIS IR/ SPACE FOR ROUGH WORK P.T.O.



Z16 18
39. S e
et et S
(a) gl st (i) ™ IEEd
(b) fracd st (i) A Sered
(c) Tt shidt (i) e IR
(d) i i (iv) Wellcargd
Tt 39T
(@ (b} (g (d)
M @ 6 @ @
(2) () (@) @Gv) ()
3) Gv) @) @@ @
@ @ W @ @
Match the following :
Agricultural Revolution Agricultural Production
(a) Golden Revolution (i) Crops Production
(b} Yellow Revolution (i)  Fish Production
(c)  Blue Revolution (iii) Oil seeds Production
(d) Green Revolution (iv) Horticulture
Answer options :
(@ (b) (© (d
(1) () () @ (i)
(2) @) (i) (v) ()
(3) (v} (i) () ()
(4) @) Gv) @ (@)
40. AFE EE gEdie w0 GEEH 9% 29 ?

(a) T et iy anfor ymfior fawre 9%

(b) T TR dF

(c) ufiE SR Fi snfer wio fasm o

(d) Ut T

it 39T : _

(1) <R (a) s (b) @ (9 (3) A (a) M () (4)

Which Cooperative Bank gives long term loan to the farmer ?

(a) State Cooperative Agricultural and Rural Development Bank
(b) Urban Cooperative Bank

(c) Primary Cooperative Agricultural and Rural Development Bank
(d} None of these

Answer options :

(1) Both (a) and (b) @ (© (3) Both (a) and (c) (4)

(d)

(d)

oAl HIWHEIS S/ SPACE FOR ROUGH WORK
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41. EEEHE HU fGUH S I ?
(a) qree YeETE AT A SIaErEHE TR ANy wE 26 I

(b) e el AeTITg e SHEHEES TR i we 3 I

i I
(1) (a) IR S ) (b) S
@B) (a) 3ftr (b) T 3T 4) FOYH FURE S TE

- Which of the following statement is correct ?

(a) Since the fifth five year plan, the government is paying special attention to Horticulture.

(b) Since the sixth five year plan, the government is paying special attention to the Horticulture.

Answer options :

(1) (a) is correct (2) (b) is correct
(3) (a) and (b) are correct (4) None of above are correct
42. 2021 =N FE AFAATIR IO o9 arEe & forefie R A IR,
(1) 2394 (2) 1394 (3) 130.00 K 4) 1027
. Reports on Agriculture in 2021 mentioned India’s Net SOWN aiea is million Hectares.
(1) 239.4 () 139.4 (3) 130.00 @) 1027

HoAl HIUMTS JNT/SPACE FOR ROUGH WORK ) P.T.O.
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43. WERTgHie Senfir URer snftn @i SfiEes) el Svam el sTRa. dr Sre S

-
.

WY - 1 WY - 10
(a) YEARIH ATE Herel TdE 0 () 1981 9 =heifiw €Rw
(b) ST TN USRI e T FIO (i) 1993 3 A NfiTR G
(c) TEUSTIUEET fo¥y Yot w30 (iif) 1995 = A ifira Hro
(d) Fid wum sa sifae mee 20 (iv) 2006 = s ¥Ry
gt I

(@ (b) (o) (d)
1) @@ (@ G (i)
(2) (@) (v) @ ()
() (@) @) (Gv) @)
@ @ @ @ 0
Maharashtra State Industrial Policies and their objectives are given are below.

Match the correct :

Unit - I Unit - II
{a) To establish five star industrial campuses (1)  Industrial Policy 1981
(b) To establish International exhibition centers (i) New Industrial Policy 1993
(C) To take special efforts for self employment (ili) New Industrial Policy 1995

(d) To given importance to export oriented business  (iv) Industrial Policy 2006

Answer options :

@ () (o (d)
1) @ @ @ @)
2) (@) (@v) @) (i)
@ ) @ @) 0
@ @) @) Gv) - @

FoeAT HIHTHETS WU/ SPACE FOR ROUGH WORK -
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44, ST TS 371 FR&T Fa1 2013 (NFSA) fugfad soam s,

(1) 15 AR 2013 (2) 26 SH 2013 (3) 10 W= 2013 (4) il &

National Food Security Act 2013 (NFSA) was notified on .

(1) 15% Aug, 2013 (2) 26" Jan. 2013 (3) 10%h Sept. 2013 (4) None of the above
45. GEeTds HO Y SET o ?

(a) WERIERIS I & Trgmier SR Sfawied TR,

(b) TR “igael & AR Il SASHAT HHl SHUIS HRI R,

i I

(1) (a) SR M (2)  (b) TR M

(3)  (a) 3T (b) sA=R MR (4) SOTIHR BURE S AE

Which of the following statement is correct ?

(a)  Agriculture in Maharashtra is highly depending on nature.

(b) Inadequate capital is the reason of less agricultural productivity in Maharashtra.

Answer options :

(1) (a) is correct (2) (b) is correct

(3) (a) and (b) are correct (4) None of above are correct
46, WreAleTIsh! I Hfga T ®ES IRa 2

(a) Vi SeUrehdl ATed.

(b) T e fmior ),

it I ;
(1) (a) U= 3R (2) (b) U= I
(3)  (a) S7f0T (b) TR =T (4) e BoRE @

Which of the following are benefits of organic farming ?
(a) Increases agricultural productivity \
(b) Creating environmental balance

s

Answer options :
(1) (a) is correct (2) (b) is correct
(3) (a) and (b) are correct (4) None of above

&l HATHIS ST/ SPACE FOR ROUGH WORK SO -P.T.O,
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47. St 7T TR AFeR1 o= TR qRTe (TSR A9 FOA S,
(1) 19 BFEAR 2015 (2) 19 HEAR 2016
(3) 15 PR 2017 (4) 26 FHERI 2015
Soil Health Card was introduced on at Suratgad (Rajasthan).
(1) 19t February 2015 (2) 19'h February 2016
(3) 15" August 2017 (4)  26% January 2015
48. & SfaeisRons €Y R/
(a) ST ST AT (b) TR STcTeIE rEf
(c) ot eAElE THREEF Ty (d) Toeeh 9= geaE e d
it sy '
(1) W& (a) MG 28 (2) W= (b) I (c) FFT AT
(3) W (c) A W @ (a), (c) S (d) = ST
is/are the demerits of Globalization.
{a) Increase in foreign Trade (b) Increase in availability of Technology
(c) Negative impact on Agriculture (d) Increase in foreign currency
Answer options :
(1) Only (a) is correct ‘ (2) Only (b) and (c) are correct
(3) Only (c) is correct (4) (a), (c) and (d) are correct
49. TEHRIT Giellel SqTER1 Hvll Jisell o7 ?

“Wmﬁmmmwmwnﬁmmmﬁ%ﬁwmﬂwmm
TEHR 30 EuErE .
1) Auw e (2) UE e @) Huw fgwde @) aladw SO aw

Who has stated the following definition of co-operation ?

“A movement in which many people with similar needs voluntarily join together to achieve a
common economic objective is called co-operation”.

(1) V.L. Mehta (2) H. Colvert (3) C.F. Strictfund (4) None of above

- W,
L]
s
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50. _ T et wded oTRA.
(a) Wewrd for Tquieres deure AR
() UL FEFEA v Tatad
() fadda feem g« O
(d) TRHE TS T FI

m I
(1) (a), (b) 3RA (c) 4 e ) (a), (b) 3T (d) A 3T
(3)  (b), (c) 3fur (d) A 3ned (4) a0a §8 A aTed

are, the functions of NITI Aayog.
(a) Cooperative and competitive federalism
(b) Shared National Agenda ’
(c) Decentralised planning
(d) Network of Expertise
Answer options :
(1) (a), (b) and (c) are correct (2) (a), (b) and (d) are correct
(3) (b), (c) and (d) are correct (4) All above are correct

51. TLH FH fawm dere @ UL T faEFE SSF-TR ((RKVY-RAFTAAR) 09
el TR U 3.
1) TR 2018 (2) WMARt 2018 (3) TS 2017 (4) & 2017

In permission was a given to change the name of Rashiriya Krishi Vikas Yojana to
RKVY-RAFTAAR.

(1) November 2018 (2) January 2018 (3) November 2017 (4) July 2017

52. YRAdel Hehll wacs 29 A,
(a) TAefi=l wuaRan (b) T S
(c) T AT STaaaH SeEvey Red (d) TNgET A O A
it 39T

1) @ O 3A©Q 2 @) M 3) ()0 TTd) @ @ )« ()
are the weakness of the Indian Cooperative Movement.

(a) Lack of funds (b) Competition from private agencies

(c) Helped for improving life in Rural area (d) Defective Management and Leadership
Answer options :

(1) @ (yand ) (2) (), (Jand(d) (@) (a) (b)and(d) (4) (a) (b), (c}and (d)

FHoAT BINETS ST/ SPACE FOR ROUGH WORK ' P.T.O.
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53.

24

(a) TS TRH YT FOAETE! SGm SYeTey FHTl,

(b) ST Ieared T faawor wevast ge giadn famdia s,

(c) ST EEEE Heliar JeEsT H,

(d) IR e A feETEET gEeT H.

i I

(1) () 30T (c) & foerm SR a@a (2) e (d) @ Faum s a1
() (a) T (b) B fAum SR 3T (4)  (c) 3 (d) & faum s amea
The Central Government has set up a seed Bank

(a) to make available seeds for meeting contingent requirement

(b) to develop infrastructure for producing and distributing seeds

(c) to provide loan to purchase seeds

(d) to provide the new varieties of seeds to the farmers

Answer options :

(1) (a) and (c) these statements are correct (2) Only (d) the statement is correct

(3) (a) and (b) these statements are correct (4) (c) and (d) these statements are correct

54.

Wil Hivn faumH sHeR R ?
(a) TTHIO YR 39S AFHE] A @B,
(b) T=B AHRY A WA T G

it I
(1) (a) SR ¢ Q) (b) TR AR
(3) () 3TN (b) A= S (4) et FIRE SR

Which of the following statement is correct ?

(a) Open unemployment is mostly seen in rural areas.

(b) Disguised unemployment is mostly seen in agriculture sector.
Answer options : |

(1) (a) is correct (2) (b)is correct

(3) (a) and (b) are correct (4) None of above are correct

e HIEIG ST/ SPACE FOR ROUGH WORK
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55. e faum faerd =0

(a) 201617 T Ticereh ICARHN TRWET T B

(b) 2016-17 A JeAferi= IJACHA SIS S Bl

ST B/ faumA g /e ?
(1) %I (a) TAT 3 (2) FaB (b) TS AR
(3) (a) 3 (b) IR TRd 4) (a) onftn (b) I A

Consider the following statements :
(@) - In 2016-17 productivity of Rice was more than Wheat.
(b) In 2016-17 productivity of oil seeds was more than pulses.

Which of the statement/s given above is/are correct ?

(1) Only (a) is correct (2) Only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are incorrect
56. HENIE TF AEAN 77 feastt ‘ verme tog uma fawr faem’ < wene et

(1) 292001  (2) 299A2002  (3) 29 A 2005 (4 29 2006

On _ ‘Maharashtra State Human Development Mission was constituted by state
Government of Maharashtra.

(1) 29 June 2001  (2) 29 June 2002  (3) 29 June 2005 (4) 29 June 2006

57. Helt RaATde TG T S STedl R A=l geard bl
(1) 1895, TweaH @) 1901, TRNE
(3) 1920, TSIG (4) 1927, USTH
In the ‘Pepsi’ company started contract farnﬁﬁg in India from the state.
(1) 1895, Rajasthan (2) 1901, Maharashtra
(3) 1920, Gujarat (4) 1927, Rajasthan

FHocdl HIATHIS ST /SPACE FOR ROUGH WORK ' ) P.T.O.
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30 TR 2021 st e Sop=n FrRmiTaR dw fam dearen w=n sevid wefer faum frarm
o - ,
(a) TErE € Tw R faa geen om.

(b) eI fag o= i fad HJe s,

(c) U TRimiv 9% € Tk SR faa gEe o,

FfeTiet FHR/A faurA @ eera ?

1) % (b) qF MR (2) () A T

(3) e (a) MU (c) AT SARA (4) e (b) I (¢) Fra TR
Consider the following statements in the context of structure of Non-Banking Financial Institutions
under Reserve Bank’s Regulations as on September 30, 2021 : '
(a) NABARD is a Non-Banking Financial Institution.

(b) Housing Finance Companies are Banking Financial Institutions.

(c) National Housing Bank is a Non-Banking Financial Institution.
Which of the statement/s given above is/are correct ?

(1) Only (b) is correct (2) Only (c) is correct

(3) Only (a) and (c) are correct (4) Only (b) and (c) are correct

59.

TRRTT=A v Hiifies &= waaw foeel-gas (efeaa FieR Tsl F0E e 3R ?

(a) T9er ey () Tt S
() uggiwemm - (d) Ww-fass
it S?I:l' :

(1) (a) 37 (b) (2) (b)) (3)  (b) o (d) 4) FH(0)

Which of the Maharashtra’s Industrial Regions are included in The Delhi-Mumbai Industrial
Corridor Project ?

(a) MIHAN Project : (b) Dighi port

(¢) Samrudhi Mahamarg (d) Shendra-Bidkin

Answer Options :

(1) (a)and (b) (2) (b)and () (3) (b)and (d) (4) Only ()

&A1 HEEIRT AR/ SPACE FOR ROUGH WORK
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60. Geite faum foemd o -
(a) TG T (JSTE) TV HIAS-19 RIS A WetHier S SRRt e e s
(b) HAS-19 FEFITS A TR Feqeh T (FSTL) T AN T T el T,
T wivR/d faem/A stET serd ?
(1) T (a) U AR (2) W (b) I AR
(3) A (a) 0O (b) WA TR (4) SOATH! FUE A
Consider the following statements :

(a) Transport Bubbles are temporary Railways Transport Arrangements within the country
between two cities due to COVID-19 pandemic.

(b) Transport Bubbles are temporary Air Travel Arrangements between two countries due to
COVID-19 pandemic.

Which of the statement/s given above is/are correct ?
(1) Only (a) is correct (2) Only (b) is correct
(3) Both (a) and (b) are correct (4) None of the above

61. @reita faum faarm =
(a)  SiE T AT e ganfiE G - 1 8 IRET Wil arresiaT SR S uaen i@ Taiaudrd ad.
(b) Tt it wwdio fFar gaf@ GeE - 1 s 9 wEe T T ae g uife woam s
SR v/ faum/A 9 aR/q ?
(1) T (a) 99 3R (2) TR (a) anfo1 (b) A TR
(3) W (b) AT AR (4) wliertent SRR A
Consider the following statements :

(a) Revised Rajiv Gandhi Gramin Niwara Yojana - II is being implemented for below poverty
line beneficiaries for construction of houses.

(b) Under Revised Rajiv Gandhi Gramin Niwara Yojana - II, the cost of each house is fixed at

T one lakh,
Which of the statement/s given above is/are correct ?
(1) Only (a) is correct (2) Both (a) and (b) are correct
(3) Only (b) is correct (4) None of the above

HSAT FHTATHIS |/ SPACE FOR ROUGH WORK P.T.O.
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62. refeTeIel ATt e SRt (TAT) ST W f S R e 2
(1) o S R - Q) I R e SR
(3) YIEw dvTen [ESTN HRy (4) FeH T R
What policy does the Reserve Bank of India implement to curb the growing trend in the inflation ?

(1) Cheap Money Policy (2) Interest rate reduction policy
(3) Policy for the heavy supply of money (4) Dear money policy

63. WERTEE! i vl 2021-22 THR HERTLTHA e GHel Hivien foeend 3 ?
(@) HITRTR ®) ™ (c) TR (d) ¥
qqft 39Y ;
1) (@ (@) 2 @eaf@ (3 (), (@) @) FHHH wd

According to Economic Survey of Maharashtra 2021-22 in which districts of Maharashtra are
Textile Parks located ?

(a} Kolhapur {(by Pune {c) Hingoli (d} Dhule

Answer Options :

1) (a),(c)and (d) (2) (a)and (d) (3) (b), (d) and (a) (4) All of the above

64. WIEHEdS! H /@ UM/ SET 3N/ AR ?
(@) 1991 T 2016 A TTAW WRarEt Hardt frafa HHt Fe.
(b)  2016-17 AL viRareAr ugw Frafda w5 anfor dafaa axg=n aer12.3% €
At 9w
(1) ¥ (a) (2} (a) 3nfeT (b) S (3) W (b) (4) SHIAIR! FUCE TR
Which of the following statement/statements is/are correct ?

(a) During 1991 to 2016, India’s export of services decreased.
(b) In 2016-17, the share of agriculture and allied products in total export of India was 12.3%.

Answer Options :
(1) Only (a) (2) Both (a) and (b) (3) Only (b} (4) None of the above

FHoAT FTEE AR/ SPACE FOR ROUGH WORK
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65. Fifae-19 = WY WA fiered o SRR Hifgs PR WYY WE S,
(a) SreiehTel T st (b) T W@ AT
(c) e el o ST (d) < wome ST
Tt ST |
(1) %3 (a) 3T (b) (2) ¥ (a) 3 ()
(3) HAB (a) AW (d) (4) TdH o

In the wake of the COVID-19, Reserve Bank of India introduced Unconventional Monetary Policy
tools in terms of

{a) Long Term Repo Operations (b) Reverse Repo Operations
(c) Targeted Long Term Repo Operations (d) Payment System Operations
Answer Options :

(1) Only (a) and (b) (2) Only (a) and ()

(3) Only (a) and (d) (4) All of the above

66. ¥ THERA qod AL @R HriEHt SoarE! FI0 el SHee ?
(a) T TENE gfawn faa dots S e,
(b) OTETNE GAHER HUA STeied] it L gE Suar STe.
(c) OTETHR Qfaersa1 faehIaTEE! T9 SO U= AIMIER U HL U T,

d) I A

et I

(1) e (d) faam siEe ome 2)  (a) 307 (b) Faum™ SR M
(3) T (c) faum sl o’ @)  (a), (b) 30T (c) faum =R sTRa

Which steps were taken for private participation in the infrastructure sector by the Central
Government ?

(a) The Government set-up Infrastructure Development Finance Company.

(b) The Government announced tax-holiday on the expenditure which was done on the
infrastructure facilities.

(c) Tax exemption was given on dividend of the companies which was set-up to develop
infrastructure facilities.

(d} None of these

Answer Options :

(1) Only (d) statement is correct (2) (a) and (b) statements are correct

(3) Only (c) statement is correct (4) (a), (b) and (c) statements are correct

FoeAl HETES! I/ SPACE FOR ROUGH WORK P.T.O.
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67. TSN TR qeaq 3T
(a) 182 feawrst (b) 368 feemr=t
(c) 364 feawi=t (d) 91 feamish
vaidt v
1) (@ () 2) (© nf() (3) H (a) 4) %H(d)
Treasury bills have a maturity of
(a) 182 days (b} 368 days
(c) 364 days (d) 91 days

Answer Options :
(1) fa) (©)and(d) (2) (c)and (d) (3) Only (a) (4) Only (d)

68. TYMFCT TR UEYTET 2020-2025 (NIP) ¥ H&T He F4 3 2

(a) wiLELdh. 7 4 WO (b) TSR fAfda

() Fol <oy Yt fefelt (@) ol wd

et I

1) (a) T (b) faum s e 2) W (d) faum smr SR

(3) R (b) A () faum IR mRa (4) W (b) faum s o
What are key benefits of National Infrastructure Pipeline 2020-2025 (NIP) ?
(a) To increase GDP (b) Job Creation
(c) Creation of the infrastructure across the country (d) All of the above

Answer Options :
(1) (a) and (b) statements are correct (2) Only (d) statement is correct

(3) Only (b) and (c) statements are correct (4) Only (b) statement is correct

HoAT HHTHS T/ SPACE FOR ROUGH WORK



A 31 zZ16

69. 3irafi Hww, 1956 < SRy & Bl
(a) trEnfimes g& | U FO
(b) 3FarE S fobE HO ’
(d) TSI S R

gt 3T
(1) " (a) 3 () @ (O A (d)
(3) T (b) AW (d) (4) T (a), (b) S (d)

Objectives of the industrial policy, 1956 were
(a) To accelerate the rate of industrial growth
(b) To develop heavy industries

{c) To expand private sector

(d) To expand public sector

Answer Options :

(1)  Only (a) and (b) (2) Only (c) and (d)
(3} Only (b} and (d) (4) Only (a), (b} and (d)
70. HRAW SgUSE Hu=aiea fhaier fFEw Savarh Sereert R 3.
(a) SOl SRR HAET :
(b) v g 5%
() 3Iirifie fowm vaes
(d) fo= =™
It I
(1) T (a) 0 () (2) R (b) =¥ ()
(3) FH (b), (c) W (q) 4)  (a), ®), () ¥ (d)

In India, the responsibility of controlling the activities of multinational corporations rests on

(a) The Ministry of Company Affairs

(b) The Reserve Bank of India

() The Ministry of Industrial Development

(d) The Ministry of Finance

Answer Options :

(1)  Only (a) and (d) (2) Only (b) and ()
(3) Only (b), (c) and (d) (4 (@), (), () and (d)

e HIHETS SN/ SPACE FOR ROUGH WORK P.T.O.
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71. 1966 e T JETHE AEUE TR SIS B,
) sEmE @ 6w@® (3 T5WEE 4 8sTET
Investment limit of small scale industries was done in 1966.
(1) 5 Lakhs Rs. (2) 6 Lakhs Rs. (3) 75 Lakhs Rs. (4) 8 LakhsRs.
72. S el
(a) M G v
b) Fe (i) e
(€ Y= (i) Hreen
(d) W (iv) e
Qi I
(@ (b) (9 (d
1 O @ @ )
(2 @ @ @) @
@) v) ) @) (i)
@ @) @ @ @
Match the following :
States Hydro-electric centres
(a) ‘Assam () Shabari giri
() Kerala (i) Pawana
(c) Punjab (iii) Kotala
(d) Maharashtra  (iv) Umiru
Answer Options :
@@ (b (@ (d
¥ O @ @ )
@ @) @ v @
@ & @ @) (@
@ @ @ @ 6

FoAT TTETS R/ SPACE FOR ROUGH WORK
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73. UM AT RS HE ?
(a) i sTeere e Wee @ G S
(b) Tfed ST AT HET AT FHrEam 7 TOrHFRE F .
(c) =aEME TRETHEE Sa.
(d) SATEE FHSTHAONHE S,

Tgidt W '
(1) (a) 300 () F foam @ 3T 2) (o) i (d) & faurm sH=R e
(3) HE (b) ¥ faum ssR 3R () (a) 30T (b) & Fem SR SR

What does the Ease of Doing Business mean ?

(a) Making the existing rule simple and rational

(b) Using of information technology to make governance more efficient and effective
(c) To make business profit-oriented

{d) To make business Social-welfare-oriented

Answer Options :

(1) (a) and (c) statements are correct (2) (c) and (d) statements are correct
(3) Only (b) statement is correct (4) (a) and (b) statements are correct

74, WA fged do ST 39T T-Fa YUNeiter Toaaiad Wia-37 i Wie-re giaun
& e, |

(1) 28fEmT2020 (2) 1THE2020 (3) 6 IFWE2020 (4) 1T 2020

The Reserve Bank of India introduced the automated sweep-in and sweep-out facility on its
e-kuber system on '

(1) October 2, 2020 (2) April 1, 2020  (3) August 6, 2020 (4) July 1, 2020

.
75. wmmﬁwﬁ?%mn,zomﬁmﬁwmﬁﬁﬁ“wmmm”
et e '.
(1) o7 fosr s [ ) feicas suam
@) g A= (4) CEAEE SENEN AT

The Prime Minister of India launched “Saansad Adarsh Gram Yojana” on October 11, 2014, the
birth anniversary of

(1)  Atal Bihari Vajpayee {2) Deen-Dayal Upadhyaya
(3) Narendra Modi (4) Loknayak Jayaprakash Narayan

ol HKIUTATSE ST/ SPACE FOR ROUGH WORK P T.Q,
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76. Qe faum faumm i -
(2) 1 2017 TEA YRAW ST TN Hel 3.
(b) T TR TESHUHE e HTam.
(9] geiuget $g TR M F.
(d) IESITHE ToF TR a6 Hg THR TN Fm.

FheTi® FOR/A faumaA a9 sra?
(1) FaB (a) A0 (d) FeR 2T (2) a3 (b), (c) HATW (d) TR 3
() Fa2 (d) =R 3N (4) F9 (a), (b) AW () SR 3

Consider the following statements :

(a) GST has been implemented in India from July 1, 2017.

(b) SGST, collected by the State Governments.

(c) CGST, collected by the Central Government.

{d) IGST, collected by State Governments as well as Central Govemments
Which of the statement/s given above is/are correct ?

(1) Only (a) and (d) are correct (2) Only {b), (c) and (d) are correct

(3) Only (d) is correct (4) | Only (a), (b) and (c) are correct

77. WSS &rFTISl ST faEiTehComs] ST el
A M

(a) STARIE qF () O e §%

(b) oiftdew dF FHF HAY @) FFEA ¥ AfE e

(c) U dh (i) HTU IF

d) fafsFe 9% (v) 3fema 9%

i e

@ () () (@
O @ @ @) @
@ v @ @ 0
(@) (v) @ @@ ()
@ O Gv) @)
Match the following Merger of Public Sector Banks :

Transferor Banks Transferee Bank
(a) Allahabad Bank (i) Punjab National Bank
(o) Oriental Bank of Commerce (i) Union Bank of India
(¢) Corporation Bank (iii) Canara Bank
(d) Syndicate Bank (iv) Indian Bank

Answer Options :

(@ @® () ()
1y @ @ @) @)
@ @) @), @) @
@) (v) @) @) (i)
@) O (v) @) (@)

y .
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78. RN e gfis fod o A & el .
(1) . 1 A 2020 (2) 1 #2020 (3) 1332020 .- (4) 6 €=t 2020
Indian Railways started Shramik Special Trains from .
(1) Aprit 1, 2020 (2) May 1, 2020 (3) June 1, 2020 (4) April 6, 2020

79. @S U foEm w0 e
(@) AR FHE HRE 2012 3 Vo Foraie FOdE G2 e T <Ie] ST,
(b) THEER TH HIS2012 A TN TEW FAEN FUdd Y g qU =Ieg Jefe.
(c) TR 39 HS2012 7 IR 9 Aefoer FT T 79" =] 3ol

Fier SR/ faumA IR s ?
(1) W (2) 0T IR () T (b) A AR
(3) W (c) ArY I (4) et wd

Consider the following statements :

(a) Direct Tax Code 2012 has continued tax exemption on Education loan.

(b) Direct Tax Code 2012 has continued tax exemption on leave travel allowance.
(c) Direct Tax Code 2012 has continued surcharge and education cess.

Which of the statement/s given above is/are correct ?

(1) Only (a) is correct (2) Only (b) is correct

(3) Only (c) is correct (4) All of the above

80. TS WYUK W1 ASHN EIR
(2) TS 9Tl <[7aH SR @Es TUe Sat g,
(b) Heiftra wrTHE TSR Gt fmior .
(c) { W STaM e (T de) a1 gRa,
(d) YETd WEN a1 e Hihd el s o= faftfe

‘Elhﬁ E?ﬁ' :
(1) (a) =f (o) Taum s =R sTRa ) (a) i (b) faum SR A
3) (), (o) sufer (d) forem SR M @) (o) forum e s

Advantage of the Panchayat Sanchar Sewa Scheme :

(a) Providing Postal Services to needy area with less government expenditure.

(b) Generating employment opportunities in these areas.

() Providing speed post services to the Urban area.

(d) Generating saving through The Panchayat Sanchar Sewa Scheme in Urban areas.
Answer Options :

(1) (a) and (c) statements are correct (2) (a) and (b) statements are correct
(3) (b), (c) and (d) statements are correct (4) (c) statement is correct
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B1.

gﬁzmmaﬁzﬁmzozon@,zomwwsﬂém . T GHE B
(a) 9w sl v ® 9 u T

(c) 7 e Sewlt yaheq (d) 4 TR T fawe waheq
it I

(1) @, (®) (@) (2) () (AT (3) (@) ()M @) (), b))

Between July 2019 - October 2020, 20 Sagarmala Project was completed which comprise

(a) 9 port industrialization projects (b) 9 port modernization projects
(c) 7 port connectivity projects (d) 4 coastal community development projects

Answer Options :

1) @ (Band(@© (@) @) (Qand(d) (G) (@) ()and(d) (4) (a) (b)and(d)

82.

Grefter faum foeme =10 .

(@) 31 Tedier 2021 wfa weRTy Siehfire fawm wewEaM 289 Sieifir & fmior .
(b) 289 3irefirer ditent 253 A St &3 oTed.

(c) 289 aiiEhfirh S=AHT 24 TR SFENfTF & 9 12 My Hed e,

el Hoa/a faumA 9 S Ra ?
(1) I (a) 3N (c) g A (2)- R (a) SO (b) T SR
(3) T (a) AME AR (4) I (b) 3T (c) A e

Consider the following statements :

(a) As on 31%t December, 2021 Maharashtra Industrial Development Corporation has built 289
industrial areas.

(b) Among 289 industrial areas of which 253 are large industrial areas.

(c) Among 289 industrial areas of which 24 are mini industrial areas and 12 are growth centres.
Which of the statement/s given above is/are correct ?

(1) Only (a) and (c) are correct (2) Only (a) and (b) are correct

(3) Only (a) is correct {4) Only (b) and (c) are correct

FHoAl HHMEE AT/ SPACE FOR ROUGH WORK i N
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83. WA faum fa=wE =1 .

(a) ﬁﬁ;q’rﬂ 201811@%%3@3@?%%9’@@@ 201831%’11@133115‘1

(0) TERISTS SO e WedTe S, 2018 il ST SO AT AR e A T Sl .
e TTHERGA T 8420 HET WA T[AAVhIE WEE WA e,

e FvR/A faumA srirg oTea ?

(1) 9 (a) EFT 3 2) %9 (b) T IR
(3) TR (a) A (b) = 3R (4) STl HIGE AE
Consider the following statements :

(a) Maharashtra Electric Vehicle Promotion Policy, 2018 declared in February, 2018.

{(b) Under Maharashtra Electric Vehicle Promotion Policy 2018 proposals have been received
from seven electric vehicle manufacturing units and one battery manufacturing unit with
proposed investment of T 8420 crore.

Which of the statement/s given above is/are incorrect ?
(1) Only (a) is correct (2) Only (b) is correct
(3) Both (a) and (b) are incorrect (4) None of the above

]

84. WEAIAYH! ST a8 1949-50 d 2019-20 AT STAH TR Vot = T 2t ?

(@) 1972-73 (b) 2016-17 (©) 2007-08 (d) 1976-77
it 39

(1) & (a), (b) 3 (c) (2) T (b), (c) MW (d)

(3) wE (b) U (c) (4) A (a) S (q)

Which of the following years trade balance was positive during 1949-50 to 2019-20 ?
(a) 1972-73 (b) 2016-17 (c) 2007-08 (d) 1976-77
Answer Options : .

(1) Only (a), (b) and () (2) Only (b), (c) and (d)

(3) Only (b) and (c) (4) Only (a) and (d)
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85. 2020-21 WA &2 foreh T[ervmen Tl Wieile Iedi=! weel HAM Higu 1,

(a) A (b) TERTZ (@ Toma () sty

it Y

1) @, (@ (© = (b) @ (®), (), (d) 1 (a)

3) (), @), (b) 3nfr () @) (c), (b), (d) 3T (a)

ZA{;‘;;nzgf the following states in ascending order in respect of foreign direct investment during
(a) Karnataka (b) Maharashtra (c) Gujarat (d) Tamil Nadu

Answer Options :
(1) (a),(d), () and (b) (2)  (b), (9), (d) and (a)
(3 (d), (@), {b) and (c) 4)  (c) (b), (d) and (a)

86. T TeTdR! v WA T faxig SemEeRt snfor stefuamedia sHereTo Fel 2003 = THEe w46t
TR 3T et ?

(1) = Y A 2013
) . Troem i 2007
(3) TRER @ |iHd 2005
@) WA, 6T |t 2016

Which of the following Commiittee was established to review the Fiscal Responsibility and Budget
Management Act, 2003 ?

(1)  Y.V. Reddy Committee 2013
(2) C. Rangarajan Committee 2007
(3) Mahaveer Tyagi Committee 2005

(4) NK. Singh Committee 2016
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87. 39 fam anfor va ot TEHS® (YHRT) FEET 2021 <A Hewid @it faum famm =
(a) 3o fo T T MR TR R e ST st o,
(b) 39 o= v SellERise age el A TR
(c) 33 fawl g IRl et Wl
FATH! Hivr/R faurEA g R/ ?
(1) e (a) 3T (b) AT TR (2) HaB (b) I () A R
(3) HI (a) 1MW () AT I (4) FTSB (a) Y I

Consider the following statements in the context of the Deposit Insurance and Credit Guarantee
Corporation {Amendment) Act, 2021 : '

{a) The deposit insurance premium is compulsory for all insured as well as non-insured banks.
(b) The deposit insurance premium is not recovered from the depositors.

(c) The deposit insurance ﬁremium is paid by banks.

Which of the statement/s given above is/are correct ?

(1) Only (a) and (b) are correct {2) Only (b) and (c) are correct’
‘ (3) Only (a) and (c) are correct (4) Only (a) is correct
88. g HUH TeAHLd HUET AR fasmTit HEHE HHHE 3.
(a) Ui Arwden anfor waid & (b) AT L S HEWIT
(c) Sreaforr glgeri=h ST (d) TR HefF wmo
gt S

(1) (2) 37T () (2) (a) 30T (b) 3) (@, ®) AW (@) @) (© @)
The share in central taxes is distributed among states based on

(@) State’s Population and State’s Area (b) State’s contribution in tax yields
{c) Availability of \education facilities (d) Proportion of job opportunities
Answer Options :

(1) (@) and (o) (2)  (a) and (b) () (@) (P and(d) (4 (Jand(d)
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89. WA WHRFZA A 100 2Fh W fadeht veast [aauEten WarTh Jvaw el TR,
@) s b)) FReR A |
(c) S amftn v & (d) & gEiEm
it I
(1) (@), (b) 3 (Q) (2) T (@) I (b)
(3) I (b) S (o) @ @ 0)© @)
Foreign direct investment upto 100 percent is permitted in by Government of India.
(a) Airports (b) Courier Services
{c) Hotel and Tourism sector (d) Oil refining
Answer Options :
(1)  Only (a), (b) and (c) (2) Only (a) and (b)
(3)  Only (b) and (c) ) (@ (b) (9) and (d)
90. Wit faum faar = :

(a) 10 A2 2021 Jht YA THRA TUHH SSaen ForT 2.0 =ifid et o,

(b) I=ACH 2.0 3iwTa STYF TS vt Hema et ufed 03 wfes focist 3 o It Arwa
2o .

JOedeh! o/t faem/A 9 STRA ?
(1) ¥a (a) IFT TR (2) T (a) ST (b) 9 TR
(3) w9 (b) ArF e (4) ST HIORE AE

Consider the following statements :

(@) Government of India has announced Pradhan Mantri Ujjwala Yojana 2.0 on 10t August,
2021.

(b) Under Ujjwala 2.0, along with a deposit free LPG connection, first 03 months refill and hot-
plate is provided free cost to the beneficiaries.

Which of the statement/s given above is/are correct ?
(1) Only (a) is correct (2) Both (a) and (b) are correct
{3) Only (b} is correct {4) None of the above
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91. WY VR TRIE wem A FEwies TER S qeren g feerdi= o w2
(1) T 2) TETER I (3) e | (4) THTER TSH

Which among the following is not the standard indices of physical growth that describe the
nutritional status of children ?

(1) Anaemia (2) Stunting (3) Wasting (4) Underweight
92, ST WA FAFIN UG Hed heit W Twgeiai FHHurgar o HeA T 8.
(1) =it (2) @A (@) & 4) = YA
If the Government makes direct payment to farmers, this is part of as per WTO term,
(1) Blue Box (2) White Box (3) Green Box (4) Red Box

93. @ree faur fa=me = :

(a) meﬁmmmwwmmﬁwm
2014-15 A8 & HOAM A

(b) Ao Sustiam sicia Fu 4= anguit= it snfor yreifies doaee T T wed

ferett <.
Tt 3y ;
(1) 9 (a) AFG SR (2) < (a) ST (b) APY STRA
(3) e (b) AT 3ME (4) == (a) ST (b) ST MR

Consider the following statements :

(@) To promote an inclusive growth of farm mechanization in India, a Sub-Mission on Agncultural
Mechanization was launched in the year 2014-15.

(b) Under the Sub-Mission on Agricultural Mechanization, assistance is given to state
Governments for providing training and demonstration of agricultural machinery.

Answer Options : .
(1) Only (a) is correct (2) Both (a) and (b) are correct
(3) Only (b) is correct (4) Both (a) and (b) are incorrect
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94. ‘IAME ' QT HRI BId.

(a) SRR HHe (b) TH@ () YN I A (d) S UgEE wiey
Tt I ;

1) @) ®)© (2} (b) 30 () Gy @ @ (@

Qil for food program was result of .

(a) Dollar crisis (b) Drought (c} High food prices {dy U.N. sanctions
Answer Options :

1 (@), @), (© (2) (b} and (c) 3 @ @ (@

95. 3TcihSH, FU SN IAAHL FHeA HATAH TEU AEHNIHIGIE! FSAAd WTH FI9M 1 (SIP) & Hell TR,
& e it T,
(1) a1 HEFR (2) Fgafu (3) WeFR fix (4) Therisw! HEE T
Recently, the Ministry of Agriculture and Farmers Welfare has launched a Scheme on Internship

Programme (SIP) for young professionals. The Scheme is known as .
(1) Yuva Sahakar (2} Yuva Mitra (3) Sahakar Mitra (4) None of the above

96, WECIS! Hivrdl A fegnas ' qraeam anes S FsH Tefaoard a9 R 2
@ ™ (b) @i (c) e (d) sTEE
i I
1) @ O A 2 (@), 0 (@ @) (@) M) @) T
Which of the following Tribal districts are implementing the “Promotion of Kitchen Garden Scheme” ?
(a) Pune (b) Sangli (¢) Nashik (d) Amravati

Answer Options :

(1) (@), (b)and ) (2) () (b)and(d) (3) (@), (c)and(d) (4) Al of the above

97. U ¥= G&T F/E, 2013 TER, FHeH 30 wafud TR,
(1) TS 374 3ftr reer FHEn
() T, e snfor snfearet TG TR SR EISt 3T
(3) T FTAOEHH el
(4) Trofa Soar=t wakdt
According to the National Food Security Act 2013, section 30 deals with

(1) Advance food and nutritional security

(2) Food security for people living in remote, hilly and tribal areas
(3) Other Welfare Schemes

(4) Power to adjudicate

FoAT HHEET 9T/ SPACE FOR ROUGHE WORK
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98. T fErd Ao, 1999 w4 77 faefa o sTe,
(1) e TR G
(2) TS anfor SR FEHA
(3) T Y AR T e
(4) TEviSRIEr T WSTR G
Million Wells Scheme was merged with the in 1999.
(1) Jawahar Rozgar Yojana
(2) National Rural Employment Programme

(3) Rural Landless Employment Guarantee Programme
(4) Swarnjayanti Gram Swarojgar Yojana

99. AT FITT WA GHIRYA ANIeis TagaR WH=T WS qd ey =@t ?
(1) UG FFaSST At
() awfew enfeerEl e we W
(3) SATATHS HURTE STHIA AR FH A
) FrouR e fager sPom $ge

Which of the following is not the eligibility criteria of the priority Ration Card by the Government
through inclusion guidelines ?

(1) Any transgender person

(2)  All households belonging to primitive tribal groups

(3) Agricultural labourers who don’t own any land

(4) Household with destitute living on alms

100. @@ fau faard = .

(@) 2020-21 3T HENLR 387 FY 0T ISR Gfeel 9 723 IUATSR GfHe W0 e 3Ted.
(b) AT 2022 T 1400 92 YU REM fee,

gt 39T
(1) W (a) Ih o (2) TR (a) 3N (b) T RT
(3) W (b) TF R (4) TE (a) ST (b) 9V I

Consider the following statements :

(a) Upto2020-21,387 A grlcultural Produce Market Commlttees and 723 Sub-Market Committees
have been established in Maharashtra.

(b) Number of direct Markebfng Licenses issued upto January, 2020 were 1400.

Answer Options :

(1) Only (a) is incorrect (2) Both (a) and (b) are incorrect

(3) Only (b) is incorrect (4) Both (a) and (b) are correct
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101. = GRaa= v g el e ?
(1) &= 3 FU FoeT=a1 1974 =1 SFTaS 77 Tved
(2) ¥ T FU WA 1979 = AN S ISR
(3) oA 9 FHt HeET=A1 1981 =1 INIfGH o1 TR
(4) o T FUT HeAASAT 1994 1 FTOH 37 qRwed

When food security issue was first time realised ?

(1) In the 1974's World Food Conference of the Food and Agriculture Organization
(2) Inthe 1979's World Food Conference of the Food and Agriculture Organization
(3) In the 1981's World Food Conference of the Food and Agriculture Organization
(4) In the 1994’s World Food Conference of the Food and Agriculture Organization

102. Grefta faum faarm =0
(a) WL 37 & A & Wk e e
(b) TG 7 YA A TR 2007 WEA GE H0AE 3.
(c) UT 3= & A= RY A IR a0 AR,

sherieh! o)/ & ForeiT/ 3 TS ST/ 2
(1) 9 (a) MY (b) T 3T 2) ¥ (b) U (¢) TR TRA
(3) ¥ (b) T R (4) R T ads SR

Consider the following statements :

(a) The National Food Security Mission is a crop development scheme.
(b) The National Food Security Mission was launched in August 2007.
(c) The National Food Secq;ity Mission aims at restoring soil health.
Which of the statement/s gi;zen above is/are correct ?

(1) Only (a) and (b) are correct (2) Only (b) and (c) are correct
(3) Only (b) is correct (4) All of the above are correct
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103. Weie faur fa=mm =1
(@) 2018-19 =1 Fefia AfTFHeIR SHRTH = Fom1 Tfex FToaw A Sl

(b)  11-06-2020 TG iocer g die et sTeamadie YRS sar<d 214 (TOP) g died
(TOTAL) (61 aafergfaa wes anfor wiean) v arefavand aeft 2.

At 36T
(1) T (b) T IR 2) TR (@) 3o (b) T Areq
(3) TH (a) SRIST 3T @) TR (a) T (b) TH 3

Consider the following statements :
(a) Operation Greens Scheme was announced in the Union Budget for 2018-19.

(b) The scope of short-term measures under the operation Greens Scheme was extracted from
TOP to TOTAL (61 notified fruits and vegetables) with effect from 11-06-2020.

Answer Options :
(1) Only (b) is correct (2) Both (a) and (b) are correct
(3) © Only (a) is correct (4) Both (a) and (b) are incorrect

[}

104, TS TRRIDM, HEA WA R T &A1 TEdY0l Jeha [l FIUATHEIS v Fahr
et HEq S gt 2

(1) U FE GeFERT T "qgrdw (NAFED)

(2) U wEEN faw™ AgESs (NCDC)

(3) T Rl giea Afw fear (NCU

(4) U wEEr Ft At wrE fae 9% REWH (NAFCARD)

Amid Covid Surge, the Union Health Ministry has sought the help of which cooperative
organization to provide crucial medical supplies to upgrade health-care infrastructure ?

(1) National Agricultural Cooperative Marketing Federation of India (NAFED)
(2) National Cooperative Development Corporation (NCDC)
(3) National Cooperative Union of India (NCUI)

(4) National Cooperative Agricultural and Rural Development Bank Federation (NAFCARD)
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105. @Tee faus fa=mm =0 :

(a) FeETE WIS AT 1997 HEA T& Hal.

(b) eRIeR 2007 7L & A5 3= WMather Ffdra (0 VI VI Tai quifas soarmet s
HTEA

s -

(1) T (a) AT MR ) = (b) T AR

(3) - A8 (a) I (b) Fg aTed (4) et (a) 00T (b) o7ETT R4
Consider the following statements :

{a) Mid-day Meal Scheme was launched in 1997.
(b) In October 2007, the scheme was extended to cover children in upper primary classes

{class VI to VIII).
Answer Options :
(1) Only (a) is correct {2) Only (b) is correct
(3) Both (a) and (b) are correct {4) Both (a) and (b) are incorrect

106.

HUSSI FheaTd StSTH [Tt aaean Sy e fkan i ?

(a) Tag@sa (b) HeEA (c) oI wa () fvaes fera
Tt I

1) = (a) (2) (a) S (d)

(3) (b) I () (4) (), (b) 3T (0)

Which are the nuclear reactions used to produce electricity in Nuclear power plant ?

{a) Fission (b) Fusion (c) Nuclear decay (d) Nuclear stability
Answer Options :

(1) Only (a) (2) (a)and (d)

(3) (b)and (d) - 4 (), (b)and ()

107.
ey FroR TR femie Seielide we W fackae ameet .

(2) feu T ferie $Hicid Ael = faeRae o .

(3) - O watEwuTE dgr fEen .

(4) ORI FEA T AR e Sl

The radioactive solid waste generated from nuclear power plants after suitable conditioning is

(1) disposed off in near surface disposal facilities
(2) disposed off in deep surface disposal facilities
(3) discharged in the environment

(4) recycled
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108. STOPE & fetolieemi™ weaqol & e, farnea -
(1) T - T (2) Wit - femoicet
(3) e - Tt (4) =gt - fevoneat
Nuclear reactors are significant sources of radiation, especially :
(1) X-ray radiation (2) Positron radiation
(3) a-radiation (4) Neutron radiation
109. SEE ¥ 7 I, TN TSR Hifed! e A, T e 3TH TEUTT.
(a) STARITH (by fie €fEn (c) Toemefes (d) HRITH
i I
(1) (a) 30 () D= (2) (a) o (b) A
(3) T (b) @ (o) nfor (d) =

The technology of acquisition of information about an object without making physical contact
with the object is known as

(a) Topography (b) Remote sensing (c) Geodetic (d) Photography
Answer Options :

(1) (a) and (c) both (2) (a) and (b) both

(3} Only (b) (4) (c) and (d) both

110. ' SRIFHET 0] U RUH AR’ 9 AT Wiererdent hivwt A g o1 ?
(a) R aver faeafafi wam sfare age IsH TEa.
(b) &RER $A WU ARSI S RfEE-233 TE S S A R
(c) wRam T qoma diiemh e nafda e
(d) mmaﬁﬂmﬁm@?ﬁawﬁmﬁzﬁmm&m%mmwmﬁ
3.
Tt 9T

1) ®)© ) 2 @@ 0T @) ()@ (4)  (b) 0 (d)
Which of the following statements are true regarding the “use of Thorium as a nuclear fuel’ ?

(a) There will be emission of green house gases during electricity generation using Thorium.
(b) Thorium has to be converted to Uranium-233 in a reactor, before it can be used as a fuel.
(c) India has limited resources of Thorium as compared té Uranium.

(d) The beach sands of Kerala and Orissa have rich reserves of Monamte, which containg about
8-10 % Thorium.

Answer Options :

1) G @©andd (2 @ Gand() @) (Jand(d {4 (b)and (@
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111. GEATEH! S faam wf omq ?

(i) - fafetor aifemen Siam] w69 s o I i qefem Iaa.

(i) faftor o= IR fevoiicntt amaam.

(i) o7 FafTr Yo o e JHEM FH SR,

(iv) o fafewworen Smfas sl "@eed (WHO) = gueiR fHeore =l

ot 39

(1) () s i) (2) () anf (iid) (3) @) 3 (iv) (4) (i) 3 (iv)
Which of the following statements are true ?

() Irradiation makes food products safer by reducing the harmful bacteria.
(ii) Irradiation makes foods radioactive.

(iii) Nutrients losses caused by irradiation of foods are less.

(iv) Irradiation of foods has not received official endorsement from WHO.

Answer Options :
) @and @ () @Gand@)  (G) @and@) (4 (i) and ()

112.

113.

m@ﬁﬁamwwq@mﬂ@7

(a) SrEREETE (b) SieREEtE

() g (d) forega forerem

i I

(1) (a) AT (b) (2) (a) STOT (d) (3) wH(d) (4) () WT ()
Which of the following method is not useful to convert biomass into useful forms of energy ?
(a) Biochemical (b) Thermochemical

(c) Gasification (d) Electrolysis

Answer Options :

(1)  (a) and (b) (2) (a)and (d) (3) (d)only 4 (b)and (o)

YRETE 3o FEFETE T Saey sft el AT A TH W FOAMET 9 FERA
q S el Ft i el SR

(1) iRy fades (2) = TG e fovies

(3) oM oY 3fem fodies @) 3fem og efeiFerm fadiee

The Government of India owned company established to commercially exploit the products and
services emanating from India space programmes is .

(1) ANTARIKSHA Limited (2) NEW SPACE India Limited

(3) OUT-SPACE India Limited (4) Indian Space Applications Limited

THoeaT ATl W/ SPACE FOR ROUGH WORK
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114, ‘e feR RO, T 2 7T 3R
(1) e () ER ST
3) ¥R YHF (4) SR EEA
‘Deenbandhu fixed dome model’ is a model of
(1) Smokeless chulha "~ (2) Solar water heater
(3) Solar dryer (4) Biogas plant
115. foEPR AR TF 24 XA (TN.T) waet I Ieafetd H.
1) 15 Taei sge@ @) 23 facias @
() 3.5 faeig sge@ (4) 4.2 faefo" sge@
One ton of T.N.T. releases of energy upon detonation.
(1) 1.5 billion joules (2) 2.3 billion joules
(3) 3.5 billion joules (4) 4.2 billion joules
116. = Ffifden @ frada wredwarie @l foaen 7 cwmin dva w31 .

(a) YR SO S
(b) R fa= gt
() ZUFTEA - 233 snivr <ifEm - 232 STROmd Jomett

it I
(1) ATFA (a), (b), () () T (a), (o), (b)
@) HTHA (), (a), (b) (4) ATHH (), (a), (c)

Arrange the following three stages in an indigenous three-stage program of electricity generation.

(@) Pressurized heavy water reactor

" (b) Fast breeder reactor

(c) System using Uranium-233 and Thorium-232

Answer Options :

(1) (a), (b), (c) respectively (2) (@), (c), (b) respectively
(3)  (c). (a), (b) respectively (4) (b), (), (c) respectively
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117. GEATAdH! HIoE fuH SaEr SafaoamErg s Fiae e BRReRs fae aug 3 o ?

(a) wmﬂﬁw&wwmm.
(b) 1 KWP-=t e Fees Uier faein SurwmEt 10 DY dfex s ™ s,
(c) T& et Srisa SaieR Tufia el 1% Tohd 019 SR THa= Saied e,

(d) T TR TEw 7 famome SRt &+ I k.

it I

(1) () (2)  (b) 3 (c) (3) () () @) (a), () S

Which of the following statements are true for a roof-top grid-connected solar photovoltaic system ?
(a) It must have battery as storage facility.

(b)  About 10 m? area is required to setup 1 KWP grid connected solar system.

(c) It can be installed at the roofs of residential but not on commercial complex.

(d) It can save transmission and distribution losses.

Answer Options :

(1) Only (d) (2) (b) and () (3) (b)and (d) (4) (), (b) and (d)

118.

Tl -3TRR St WAA i W@ "eh
(a) wmﬁm@ammmaﬁwammwﬁ
(b) Sl e, 0 fohar W31 Ag SN0 4RO 7 FHRTE S SeHr
(c) HITES, PO § WHE SIS FerHri, 3nfor wxor fohat et #
(d) S HE, O T SRIA STEUR SR A1 gEgiter Fads
qaidr I |
(1) = (a) (2) (o) (3) T (b) (#4) wE )
The three main components of a tidal power plant are

(a) Dam or barrage to form basin and hydraulic accumulator and sluice ways between sea and
basin

(b) Power house, dam or barrage to form basin and sluice ways between basin and sea
(c) Turbine, sluice ways between basin and sea and dam or barrage to form basin
(d) Power house, sluice ways between basin and sea, and hydraulic accumulator

Answer Options :
(1) Only (a) (2) Only () (3) Only (b) (4) Only (d)

v
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119. ‘TEfaa’ € v HAEEA AR ?
(1) ER ISR =T STUE (2) €R ISR AN | dd
(3) |R Iy i (4) WA GH
What is the term ‘Suryamitra” about ?

(1) Satellite that operates on solar energy. (2) Solar powered water pump.
(3) Manufacturer of solar equipments. (4) Solar pv technician.

120. eIt Hva faum siet 3R 2
() YR weme a1 siae ol weare STE T S HEd Jefas s a7 Hax ffera e S
(b) yfeeR weadter dan sfiad of FeTFHT STE A 9gd T &l S
gt I
(1) FH () (2} N (b)
(3) R (a) W (b) TS 2RA (4) IR A TR
Which of the following statements is correct ?

(a) After completion of service life satellites in geostationary orbit are re-oriented into higher
orbit and then passivated.

(b) After completion of service life satellites in geostationary orbit are dopped into the ocean and

destroyed.

Answer Options :

(1)  (a) only (2)  (b) only

(3) Both (a) and (b) are correct (4) None is correct
121. dihi-2Ht Y e,

(1) fTorem e (2) TF <Y Hie

(3) Pl S WS (4) Gt syeE e

A Walkie-Talkie operates in . _

(1) simplex mode (2) half duplex mode

(3) full duplex mode (4) semi-duplex mode

122.%@@@@%%%@%%%@@%%%@%%
R ?
(1) 3-9=eIE (2) W (3) e g (4) IR

Which of the following is a Decision Support System for assisting people in taking the best decisions
for their children’s future ?

(1) E-Pathshala (2) Saransh (3) Shala Siddhi  (4) Swayamprabha
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123. #fyA @ffT faeiy st Sec T9aca 2 Y AT T HEvEE w9 w4, O fadm
T srEet .

(1) gwEEss afin (2) IFYIETES T

() JuawEHe @t (4) wf-gwarse At

Machine Learning System which attempts to find hidden structure from unlabelled data is known
as .

(1) Supervised Learning (2) Unsupervised Learning

{3) Reinforcement Learning (4) Semi-supervised Learning

124. W& - 1 300 A - 2 A1 SIS ool

e - 1 qwE - 2
(-39 ) ( Aa¥ie )
(a) fagm () Ph.D. yEui F&a0
(b) SISt (i) T gaw FoTEE! w8
(c) W& (i) ITATEY A i ARYHE TG
(d) W (iv) Wifrre Weam, fam 9 Tedevl F0ar =|4ls (Platform)
i I :

@ () (©
1) @ @) @) (@
(2) @) @v) @) @)
@) Gv) @) @ 3
(4) () Gv) @) @
Match List - 1 with List - 2 :

List -1 List-2
. (E-Initiatives) (Descriptions)
(a) Vidwan ' (i) Repository for Ph.D. thesis
(b) Digilocker (i) Education portal to facilitate learning
(c) Sakshat ot (iii) Database of leading scientists and researchers
(d) Shodh Ganga (iv) Platform for storage, sharing and verification of certificates

Answer Options :

@ ((® (9 (9
1 @ @) @) @
(2) @) Gv) @) @
@ @(v) @ @O @)
@ @ ) @) @

T HIUMEIS AT/ SPACE FOR ROUGH WORK
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125. &.TH.3R WU =S 1 ?
(1) =fie farTe g s, < fawen e e,
) =fHTe snfn w6 fdie, & fowen sig SoagEt foiiestt &6 %l
(3) HIEE e i Wearst @ S WM IR TSea S Wt
(4) Tg=E e Yy fowen Fe, S FM @ Feaer @a: Al fieadn.
What is TSR program ?
(1) Terminal Signal Registry Program, which alter System Registry.
(2) Terminal and Scan Report, Which Scan Remote System Prior to terminating,.

(3) Terminate and Stay Resident those programs that actually stay in memory after execution.
(4) Terminate and System Remove that erase themselves when complete.

126. WAt HvM UM PHP S5 @YX 318 ?
(1) PHP & 9= UiE GhI<IT WINT 31,
(2) PHP & e HEE BRI WINT 317,
(3) PHP & UF 329 AR,
(4) atH THE A
Which of the following statement is true about PHP ?
(1) PHP is a Server Side Scripting Language
(2) PHP is a Client Side Scripting Language
(3) PHP is a database
(4) None of the above

127. ST &9 S F7Y ?

(1) TSI & Fae S (2) Fdewen 7o Fa w0
(3) & amfy fearg e W (4) TF & g TN FATE 0
What is Stacking hubs ?
(1) Connect Router to Hub (2) Connect Repeater to Hub
(3) Connect Hub and switch (4) Connect one Hub to another
128. TTHT TGH SAWHER THABI et A = HrErE g 0 T & e,
1) ~eah (2) s (3) FwRHA (4) WER ey

A term that refers to the way in which the nodes of a network are linked together referred as

(I) networ (2) topology (3) connection (4) inter connectivity

HoAl SHIHETS T/ SPACE FOR ROUGH WORK P.T.O.
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129. K-NN YgHHEY Categorial Variables HHet 3feR HISIOTS Hiowe Yt aATqtel S ?
(a) &M €Re (Hamming Distance)
(b) JFAETA SR (Euclidean Distance)
(¢) W& SR (Manhattan Distance)
qaidt 39T

1 @ (2)  (a) 3 () (3)  (b) 3T () @ O

Which of the following distance measure do we use in case of Categorial Variables in K-NN ?
(a) Hamming Distance

(b) Euclidean Distance

(c) Manhattan Distance

Answer Options :

1) @ (2) (a)and (b) (3) (b)and (c) 4 ®

130. @aH (SWAYAM) 3 YOI (Ferhid) & 3T

(1) = e il ST T B A SeE TéeE

(2) TS I (Webs) Al® sfadia @ftn wR g0 Foaadin ARy

(3) WET (Student) TTE A A AT BR I F (Ailing) HESH

(4) & AW (Webs) F AR AT BR JF FASTAY WS

Full form of SWAYAM is

(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action Learning for Young Ailing Minds

)

(4) Study Webs of Active-Learning for Youth Awareness Models
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131. FETE fEar yaie et 999 SiffHew el ELuA. T = fam s Sier ST R aea
' Yo CEErETel! AISH A rell 3T WU,
(1) IEfaEE (2) AR (3) WhRESIRM (4) TOERIGIEE

Delivery of DNA into plant and animal cells and organelles by means of DNA-coated pellets fired
under pressure is called as

(1) Biolisies ~  (2) Nanojection (3) Microinjection (4) Electroporation

=

132. A 7@ f.UF 5.0-6.0 TRAM T ey ATAEERAT SA{Haad T= ST, @l S=R WUy
qiETomR (i) e ¥ qunfy f=1 wfmmoma (i) 7 ol e

(1) () SFTRR sforerfteseeT (i) wato wream o
(2) (i) SO AT (i) T o

(3) (i) T IR (ii) T A

(4) (i) FH 9% (i) TEE I IFUL

In PTC, a pH between 5.0-6.0 is considered optimal for the tissue culture media.
A higher pH gives (i) while lower pH results in (ii)

(1) (i) poor solidiﬁcaﬁon of agar, (i) hard medium

(2) (i) hard medium, (ii) poor solidification of agar

(3) (i) superior buffering, (ii) better growth

(4) (i) lesser growth, (ii) compromised buffering

133. d.&.4.= gevla = et fkdsianta <M fa=r Sdfomae sweiarga arfasest fidd 2R,
1) Shage® (2) viEsT G
(3) e FSH @) sRaeEs

In reference to PTC Cybrids are formed during fusion of

from two phylogenetically
distant species.

(1) Protoplasts ' (2) Cytoplasmic genome
(3) Nuclear genome (4) Chloroplasts

HeAT HTATATS WAM/SPACE FOR ROUGH WORK ' P.T.O.
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134.

56 A

TR HRATHIOT AT §HT =T SR 319 RUEA.
(1) G (2) W (3) T2m (4) T

The entire collection of protein encoding genes is called as .
(1) Genome (2) Metabolome (3) Introme (4} Exome

135.

(1) Tha 9g@EITY - (2) 5% 9g W AR
(3) wHE Uz @ T (4) T v EE AT
The recent outbreak of the lumpy skin disease in cattle is caused by a containing virus.

(1) Single stranded linear RNA (2) Double stranded linear RNA
(3) Single stranded linear DNA (4) Double stranded linear DNA

136.

T AT Gedis FOAA G2 v & 30.3.2022 ¥ J197 WRA WIS I a9
ATV T SIS HATCHAN S e
(1) 9/ TR SH TR A9 gaied Iew/aeegd Wi
(2 @ THEE S i F@ ande o wRw/aAet
(3) A WSl qurEel el R HY WemEifeaw
(4) e g TfEfda wee
In a memorandum dated March 30, 2022 India’s Mim'stry of Environment Forest and Climate
change announced exemption of from Biosafety assessment.
(1) Genome edited plants without foreign genes
(2} Plants with foreign gene inserts

(3) Genome edited probiotics
(4) Genetically modified kelps

137, =Eie favafaaem anfn Teey farafrmedmsa qui FaEad EEufaaeia Jeia F3arE (4E)

afor Aftret TE@d SSHreAr YuiaT TR,

(1) el enfor sfistz

(2) w&AT 3o ==

(3) HIT Y

(4) onfeersme Teit anfor smfeasins St

Xenobots or self replicating living robots built by the University of Vermont and team at Tufts
University consists of and cells of the African clawed frog.

(1) Spermatozoa and ova

(2) Cardiac and skin

(3) Neural and blood

(4) Osteoblasts and osteoclasts
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138, e T feiaien wien SeuARER e o,

i ) k)
(a) Vet i () i stafami e
(b) i A (i) ol s fawE
(o) etfew el (i) e R
@ et iR (iv) W TR
uah"rlsa‘r:

@ B © @
O ™ @ O @
@ @ 6O @
G @) @ @ 0
@ O @ @ @
Match the Nobel Prize Winners with their Research :

A B
(a) Robert Koch (i) Role of antitoxins in immunity
{b) Paul Ehrlich (i) Development of radio immunoassay
(c) Rosalyn Yalow (iii) Cellular immunity to Tuberculosis
(d) Karl Landsteiner (iv) Discovery of human blood groups

Answer Options :

@ O © @
O @ @ O @6
@ @) O @ )
@) @ @ @ 6
@ O v @ @
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139. TS 3 TF Yo Had TeUF arved URUIR e Feidt @ 91 ¥ SR Ry
EIRLE S T

(1) ey (2) Uitfafaam (3) eI (4) g

Tempeh a traditional fermented food consumed widely in Indonesia is fermented using
species as a starter culture.

(1) Lactobacillus  (2) Penicillium (3) Aspergillus - (4) Rhizopus

140. 3.9. 1949 &3 WO AEEY Witer 1o == 99 gewri- T WG Heledn e
e ‘0] Aredie ST Sl SUE Hel.

(1) dofast (2) A
(3) fowa-da emfma (4) e T oy

In the year 1949, Chemist Linus Pauling and three of his colleagues published an article on
that opened possibilities for research into “molecular diseases’.

(1) Thalassemia (2) Myeloma

{3) Sickle-cell anemia (4) Acute myeloid leukaemia

141. TET T Ty dret= wgfay S Yo Tmia dsRme st o= gracas W qegid IS

YHI 9@, 91 A Wishad - 1 HF TR ST WIETS 2V el S
(1) TfEwEA (2) sifFRRA
(3) & IR FOR GRS (4) TERA

National dairy development board’s multiple ovulation embryo transfer technology increases
reproduction rate of superior female dairy animals. This technique involves administration of

hormones with like activity.
(1) Epinephrine (2) Oxytocin
(3) Follicle stimulating hormone (4) Estrogen

FHoeAT FHIHTHTS 91/ SPACE FOR ROUGH WORK
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142, WOigd siaiet WELYR Sidiad Heied Sifas IUGr I5as 79 WuEn.
(1) Soffed™  (2) 9 HIEE & (3)  Sa WAfHT (@) 495

The process of biological treatment of seeds with beneficial organisms prior to sowing is called as

(1) Bio pelleting (2) Bio dressing (3) Bio priming (4) Bio ageing

143. S [l
A |
(a) URWEAEHd S wHeA-1 (i) o g st TewaAet
(b) URY/ATEN SaEEE UES-2 () SO SENEET STt S S nege e e
TRETIAE! g SR qeyi= fE 0.0, & Tedei

i o

(c) TURYETE JaulE UaA-3 (i) TS SRR G a1 8IS TR IR S35, Yieui et

anfor d=n e 9 o =
it I

(@ () (9
1) @) @ @
(2) (@) @ ()
3 O @) i
@ G @ 6
Match the following :

A B
{(a) Plant Biosafety level 1 ()  Genetically engineered plants involving
biopharming experiments

(b) Plant Biosafety level 2 (ii) Research involving plants with introduction of

DNA from plants safe for consumption

(c) Plant Biosafety level 3 and above 3 (iii) R&D work with GE plants that may be capable
of interbreeding with weeds

Answer Options :

@@ () (9

1) @) @ @

() (@@ @ @

G @ @) i)

4) (@ @@H) @
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144. ARG AT HeeAw fova s s ¥ R
) meﬁa frftrr aeft waref e
(2 Fftrts == TR T e
(3) wH=faa e TR A
(4) SiEH goER adl THAR
Organoids, that have shown potentia_ll in human disease research are
(1)  Self organizing 3D cell culture systems
(2) Layer by layer deposition of 3D scaffolds
(3) Spherical structures of aggregated cells

(4) Monolayers growing on oval surface

145. SH{ qereien yrafefaeier o @it o SeAT 7 SRTLY 7ed fadfea #& v,
(1) Befi| G (2) StpIEA TEh
(3) TRiCH S (4) STEA i
a fluorescent dye binds to the genetic material and can differentiate between DNA
and RNA. .
(1) Methyl Orange (2) Acridine Orange
(3) Crystal Violet (4) Gentian Violet

o1 HHIE FRT/SPACE FOR ROUGH WORK
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146. TW 1 w83 Syl o Hefuq qEgeA 2o HE dE SRT 9 wWW 11 7l fafay Aefifes e
feoiem SR, WY 19 11 953 Arg Siee Sl

w91

(& dear)
(a) IMD
(b) CWC
(@) GSI
(d) INCOIS
gty Y

@ (b) (9
1) @ @ ()
) @ @) @
G) @ @) ()
@ @O v (@)

(d)
(iv)
(i)
6

(i)

WY 11

(Ffite anust)
@ g
(i) ST MU 4T FX

(i) R

(iv) V&g

In column I nodal agencies for early warning of natural disasters are given and in column II
natural disasters are given. Match the column I and II correctly.

Column 1

(Nodal Agencies)

{a) IMD

(by CWC

(0 Gsl

(d) INCOIS

Answer Options :
@ (®) (9

1)y @ @ i)

@ O @ (@)

() G @) (iv)

@) @ @) (@i

@
()
(@
0

@

Column II
(Natural Disasters) = -
(i) Tsunami
(ii) Heat and cold waves
(i) Floods
(iv) Landslides
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147. G a9 vl

(2) T oK, WA, FATHR 3% Favriig U SereE g sRe. (RDMC)
(b) TR MY TR Fauniig Ao =Towem T $2 o7y

(c) TR s saEares Wit steny Fcatfusr s,

I I+

(1) % a9 (a) SR 3R (2) e YA (¢) TR IR

(3) faum (a) snft (o) SR TR (4) Taum (a), (b) S () SR 3Mea
Observe the following statements.

{(a) There are Regional Disaster Management Centres (RDMC) at Navi Mumbai, Solapur,
Amravati.

(b) There are ten Regional Disaster Management centres in Maharashtra.

(c)  District Collector is the chairperson of District Disaster Management Authority.

Answer Options :

(1) Only statement (a} is correct

(2) Only statement (c) is correct

(3) Statement {a) and (c) are correct

{4) Statement (a) (b) and (c) are correct

148.

Greftda HIvR! faum/A atEy ST/ ?

(a) T S R FE e SO ST wEET 2005, W58(2)(b)mnaﬁa%mam%

(b) T AT i fAe s 759 fadl e SR T 3.

() T HAuat fFrarer el &1 A9l =Heeng HEeT 2005, 1 Hew 46 RO T3 Hell R,
it Iy

(1) e Taum (b) (2) e faum (a)

(3) Taum (a) snfer (b) (@) T o) st (o)

Which of the following statement/s is/are correct ?

(a) The State Disaster Response Fund is constituted under section 58(2)(b) of the Disaster

Management Act, 2005.
(b) The central government contributes 75% of State Disaster Response Fund allocation to the

states.

(c) National Disaster Response Fund is constituted under section 46 of the Disaster Management
Act, 2005.

Answer Options :

(1) Only statement (b} (2) Only statement (a)

(3) Statement (a) and (b} ‘ (4) Statement (b) and (c)
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149. A 26/11 S TEITAR TEAFR TR FRAE iy oAt Foea sevdEr fadn
QUFTE T F0I 3Tl 2
(1) EaT (2) TES (3) URE-TH (4) @R

In Mumbai to countor terror activities which ant terror unit has been formed after the 26 /11
terror attack ?

(1) Force one (2) Garud (3) Paras-F (4) Ghatak

150. TF SUR AT WU AR T99 319! SAa<T9 9ISl 2016 99K el el o 3T
ST WITUEHRTome g0 Frsr aifasrl #io €9 ?

(1) ot foarm $e ) #=d. sm
(¢) . i st (4) =ets T

Who was the Chief Executive Officer of State Disaster Management Authority when Maharashtra
state Disaster Management Plan 2016 was prepared ?

(1) Sitaram Kunte (2) J.P. Dange
(3) Swadheen Kshatriya (4) None of the above
~-00o0-
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(8) wYRaand fafta Focm fafte wrlie =1 aW (IF a&) +@.  TYRahafaiad ITNREHRTR a1 SR SR
F TH FIM § HiA I T FS AR, 3 7S TES T TIHR SHSIRIS TG SR Fhese ' qlveired
B Ty Yoy FvaEETs ififEm-82 " A WEETER FREE FUAM 9Ee 9 I F) FES 06
eI FREMEE 3/ R T O TR ES1 e e v €.

(9) T TUFAHER: AR fafsa FOH 928 AYear SHEARIST 8 WTAYRAeR! e :sie TIRTehaet e S
TEA AR, A THATRTSIE SUaTge] SHSER 2T0eT ITIEeReT WITT-1 SaeETes T R i w3t
ATAYE X

b A
U. %, 201. FdE 99 TR FOIEE ST @A TGS FA 2
' (1) T TaFs qeE! (@ arEg famarr
(3) TS THARA W (4)  TiraTERS T

WY 4T IR (3) T e T S R, e W W SR C(3)" B IS areewEn)
W %. 201 TEIIE Sw-HHw ¢ (3)"" ¥ T il Sraifehd FEA rEfe S IR

%20, (D @ @ @
A TEA TG TGRS Yoi® WA T SR € TR0l TeRiel Jieeed Sttiha e
1 GEHHEEEES Tai ag? Qo Srlifed SE S@al.  QIehaT Ha HiAT Y Ste
T, AfEe o g U e AL
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